
 

 

 

 QBASIC( 

 

QBASIC 

 )01,2,3,4,5,6,7,8,9,( 

  

QBASIC 

 )01,2,3,4,5,6,7,8,9,( 

QBASIC QBASIC 

QBASIC 

3.14 OK "3.14" A$ 

 QBASIC 

"QBASIC$" "QBASIC" QBASIC$ QBASIC 

 

  

 $ 

 

 st_name$  4sum$ let$  Amman$$ 

 

  

 

 

QBASIC 

 * / - +  >  < =    +  -   *  /   ^   = 

 >  <  =  >=  <=  <>  ^  *  /  \  mod + – 

  S=B * (A*B/A) + (3*A+F*(A+B)) ˆ2 
 M= (A*B/A), R= B*(A*B/A), Z= (3*A+F*(A+B)), D= (3*A+F*(A+B))ˆ2 

 

 M  R  Z  D 



 

 

 

22
42
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
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n

 

 ((n ^ 2 + 4)/2 * y – 2) ^ 0.5  ((n ^ 2 + 4)/ (2 * y – 2)) ^ 1 / 2 

 (n ^ 2 + 4) / (2*y – 2) ^ (0.5)  ((n ^ 2 + 4)/(2*y – 2)) ^ 0.5 

(–5) – 8 Mod 4 + 7 * (2 ^ 2 + 1) 

 28  30  34  35– 

QBASIC 

 A < "5"  X$ <> Y  N+3 >=M^2  2A < B  

QBASIC: 
 ^  OR  <>  5 <= 6   
(15 / 5 * 3 – 6) + 3 > 5 + 3\ 2 mod 2 

 6  0  False  True  

 

 NOT  OR  AND  NAND  
A AND BA OR B 

A OR B A AND B B A 
T T T T 

____ ____ F T 
T F T F 
F F F F 

 
 T,T  T,F  F,T  F,F 

 

OR  AND  OR AND  

AND OR  ANDOR 

A=10B=7C=2D=5QBASIC 

A < D OR D <> B AND D - C > 1  

 10  2  True  False  
QBASIC  

 QBASIC.BAS  QBASIC.TXT   QBASIC.EXE  QBASIC.COM  



 

 

 

QBASIC 

 Edit  Debug   Format   Help  

QBASIC 

 CTRL  ALT  SHIFT  TAB 

QBASIC 

  

QBASIC  

QBASIC 

CLS  END 

(REMARK)  

QBASIC 

PRINTFILE START  RUN 

F5 F5SHIFT + 

QBASIC 

 QBA  EXE  BAS  TMP 

 

QBASIC 

QBASIC 

QBASIC 

QBASIC 

(N ^ 2) ^ 0.5  
 SQR(X)  ABS(X)  FIX(X)  INT(X) 

X 

 SQR(X)  ABS(X)  FIX(X)  INT(X) 

(X) ^ 0.5 

 CINT(X)  ABS(X)  SQR(X)  INT(X) 

ABS(-6.2) 

 -6.2  6  -6  6.2 

 



 

 

 

INT(X)  

X   X  

X  X 

 

Int(2.7) = Fix(2.7) Int(3.1)= Fix(3.1) Int(–9.1)=Fix(–9.1) Int(–1)=Fix(–1) 

int(7.665) 

 CINT(X)  ABS(X)  SQR(X)  FIX(X) 

QBASIC 

 Fix(5 / 2) = 5 \ 2  INT(–5/2) = –5 \ 2 

 INT(5 / 2) = 5 \ 2  Fix(–5/2) = –5 \ 2 

 FIX(X) = INT(X) 

  

  

TAN(X) 

XX XX 

XX XX 

CLS 

  

   

REM 

  

   

 

    

QBASIC 

"Ahmad" = A$ Ahmad=Omar Let A$=Jordan A$= "End" 

ABPRINT A; B 

        

 



 

 

 

 

 PRINT A , B$  PRINT A$ , B  PRINT A$; B  PRINT A; B$ 
 

A$ = "43" 
B$ = "21" 
Print A$ + B$ 

 64  1234  A$B$  4321 

 

 

A = 10  
Area =A^2 
Print A 

 

A = 10  
Print Area 
Area =A^2 

 

A = 10  
Area =A^2 
Print Area 

 

A = 10  
Area =A^2 
End  

 

  

  

Print –4;;;area  

        

 

Input "Result is:";A print "Result=";A  PRINT A Print "PROGRAM" 

 

 INPUT A, B,C  INPUT "Numbers is:"; n1, n2, n3 

 INPUT A$, B  INPUT n1; n2; n3 

INPUT "Numbers is:"; N1, N2, N3 

  

  

(Redo from start) 

 

 

 

 



 

 

 

 

 
INPUT " Enter Nmuber1:"; A 

  

PRINT  " Enter Number1:"; 
INPUT A 

 

PRINT  " ENTER NUMBER1 "; A 
 

REM  " ENTER NUMBER1 "; A 
 

 
INPUT " Enter Nmuber1:"; A 

  

PRINT  " Enter Number1:"; 
INPUT A 

 

PRINT  " ENTER NUMBER1 "; A 
 

REM  " ENTER NUMBER1 "; A 
 

  

  

 

 

IF condition THEN statement1 ELSE statement2 
 

IF condition  statement1 ELSE statement2 
 

IF condition THEN statement1 ELES statement2 
 

IF condition THAN statement1 ELSE statement2 
 

Then IF  

ELSE   

PositiveN1Negative 

 
IF N1< 0 Then Print "Positive" else Print "Negative" 

 
IF N1 > 0 Then Print "Positive" else Print "Negative" 

 
IF N1< 0 Then Print Positive else Print Negative 

 
IF N1 > 0 Then Print Positive else Print Negative 

StepFOR–NEXTStep 

 0  1  –1   2 

 


